CCI, 2TF StochRSI Trading Strategy
I need to create a trading strategy that works on any time frame with the ability to choose a time frame for each indicator different than the default time frame (default period), and the ability to optimize the different parameter of each indicator , cancel or neutralize any indicator from the strategy if needed.
This trading strategy will use CCI or StochRSI indicators as a trade originator as follows: 
· CCI Buy Conditions:
1-Close  > open and
2-Close  > T3 Moving Average  and
3- T3 Moving Average Slop is Up and
4- Zero lag Moving Average Long (Up) and 
5- StochRSI [TF1( default Period)} Slope is up and 
6-StochRSI [TF2 (2nd Time Frame)] Slope is up and
7-ADX Slope is up and 
[bookmark: _GoBack]8- CCI  Slope is up and
9. StochRSI(TF1)  < overbought limit and 
10-StochRSI(TF2)  < overbought limit and
11- CCI  Crossover oversold limit and 
12- ADX > 25 and
Stop Limit    no of Pips or   % of ATR Pips (Stop Order = ATR PIPs (Daily) * %)
Trail stop: Yes, No
Limit order: no of Pips or   % of ATR Pips (Limit Order = ATR PIPs (Daily) * %)
· StochRSI Buy Options: 	
In this option the above Lines no 9 and 11 will be as Follows:
9-  StochRSI(TF1) Cross above  oversold limit and
11-  CCI  < overbought limit and
· Close Buy:
Close < Open and
StochRSI(TF1)  > overbought limit and 
CCI  > overbought limit and
Zero Lag Moving Average = (Short) down or
Close < Zero Lag Moving Average 




· Sell Conditions :
1- Close  < open and
2-Close  < T3 Moving Average  and
3- T3 Moving Average down and
4- Zero Lag Moving Average down and 
5- StochRSI(TF1) down and 
6-StochRSI(TF2) down and
7-ADX up and 
8- CCI  down and
9. StochRSI(TF1)  > oversold limit and 
10-StochRSI(TF2)  > oversold limit and
11- CCI cross under overbought limit and 
12- ADX > 25 and
Stop Limit   no of Pips or   % of ATR Pips ( Stop Order = ATR PIPs (Daily) * %  )
Trail stop : Yes, No
Limit order :  no of Pips or   % of ATR Pips  ( Limit Order = ATR PIPs (Daily) * % )
· Sell Options: 	
CCI  Cross under  overbought limit or 
StochRSI(TF1) Cross under  oversold limit.  
In second case the above Lines no 9 @ 11 will be as Follows:
9-  StochRSI(TF1) Cross under overbought limit and
11-  CCI  > oversold limit and

· Close Sell:
Close < Open and
StochRSI(TF1)  < oversold limit and 
CCI  < oversold limit and
Zero Lag Moving Average = up or
Close > Zero Lag Moving Average 

· Money Management Requirements:
1-Maximum use of equity does not exceed A% of my total equity,
	Overall Used Margin in all symbols =< (A) % total account Balance

 
2- When Stop loss used total value of Risk of trade in one symbol will not exceed B% of my total account Balance
Trade Risk Value = Stop Limit in Pips * Symbol Value of Pip =< (B) % of total account balance.
Lot Size = Trade Risk Value / Value of Pip
Maximum no of trades per symbol = (C)No.

· Used Indicators are: CCI, 2TF StochRSI , T3 MA, Zlag MA, ADX, and ATR pips

